OSAI Form ARPA-2 (2021)

Fiscal Recovery Funds Expenditure Documentation

Date 12/12/2022	MUSK	OGEE County, Oklahoma
inmates who are isolated or quarantined	documentation system is needed to further enhal in the fiels. Implementing Wi-Fi and mobile docu ood of transmitting COVID-19 in the facility.	ince our ability to care for mentation for officers and
How does the proposed expenditure res	spond to the need or risk?	
Expenditure Category Public Health		
Expenditure: detail level 1.3 COVID-	19 Contact Tracing	-
FAQ number (if applicable)		
Estimated amount of expenditure	\$ 68,205.30	
Submitted to Governing Board by	Andy Simmons, Sheriff	
***********	**************************************	**************************************
Approved 🗾	Length But	
Denied	Lastices July)	
Reason for denial:		
Purchase Order number (if applicable)		
Notes		

Muskogee County Detention Center Guardian RFID System Proposal

For consideration of the Muskogee County Board of Commissioners

ARPA Funds Usage: The use of a mobile inmate tracking and documentation system is needed to further enhance our ability to care for inmates who are isolated or quarantined in the field. Implementing Wi-Fi and mobile documentation for officers and medical staff will further reduce the likelihood of transmitting COVID-19 in the facility in the following ways:

- 1. Special status can be placed on an inmate with which contact requires PPE.
- 2. Quarantine housing timelines can be managed through special status and keep the entire facility on the same page.
- 3. 3 Officers are able to document any updates given by inmates at the point of responsibility for enhanced communication with medical staff
- 4. Utilizing an electronic rounds and inmate interaction system will allow facility staff to contract trace an outbreak in a facility quickly by running reports of any staff member who had any interaction with a particular inmate(s).
- Documenting when cleaning supplies have been issued in the facility and providing simplified reporting to ensure compliance is an essential tool for further mitigation of Covid-19 spreading throughout the facility.

The use of the Medication Manager solution will enable us to know when medications, shots, or treatments are due for the inmate population. This feature also provides alerts when medications are due, so compliance with prescriptions and timelines are measurable and achievable.

Captain Roger Posey #5104

Muskogee County Sheriff's Office

Detention Center Administrator



Company Address 6900 Wedgwood Rd. N, Suite 325

Maple Grove, Minnesota 55311

United States

Quote Name Level 3- Muskogee County Sheriff's Office (OK)-

Lease

00005970 **Quote Number**

Prepared By

Jeff Kovar

Email

jeff.kovar@guardianrfid.com

Contact Title

Created Date

Expiration Date

Captain

Contact Name

Roger Posey

8/4/2022

9/30/2022

Phone

9186827851

Email

rposey@muskogeeso.org

Note

Some JMS providers will charge a fee for exporting their booking data. Please contact your JMS provider to ensure that

this service is purchased.

Product	Product Family	Line Item Description	Quantity	Sales Price	Total Price	Warranty	Max Replacements
GUARDIAN RFID® OnDemand™ Level 03 License (251-500 beds)	Platform		1.00	\$24,995.00	\$24,995.00	N/A	N/A
GUARDIAN RFID® Medication Manager™ Level 03 License (251-500 beds)	Software		1.00	\$4,995.00	\$4,995.00	N/A	N/A
GUARDIAN RFID® Operational Intelligence™ Level 03 License (251-500 beds)	Software		1.00	\$4,995.00	\$4,995.00	N/A	N/A
GUARDIAN RFID® Mobile Command™ for SPARTAN™	Software		7.00	\$700.00	\$4,900.00	N/A	N/A
GUARDIAN RFID® SPARTAN 3™ - Lease	Hardware		7.00	\$700.00	\$4,900.00	Three-Year	1 per Serial#
GUARDIAN RFID® Hard Tag™	Hardware		81.00	\$20.00	\$1,620.00	Useful Life	Unlimited
GUARDIAN RFID® Wave Wristband/ID/Key Fob Activator	Hardware		1.00	\$325.00	\$325.00	One-Year	1 per year
GUARDIAN RFID® ID Cards (200 / box)	Hardware	Will receive 50 staff ID cards for log in. Discounted at 75% to reflect them only spending 1/4 of the price for a box of 200.	1.00	\$300.00	\$75.00	None	N/A
GUARDIAN RFID® Extra-Wide Wristbands (450 / box) - Metal Fastener - White	Hardware		4.00	\$675.00	\$2,700.00	None	N/A
GUARDIAN RFID®							



Wristband Printer Toner (LX500)	Hardware
GUARDIAN RFID® Wristband Label Printer (LX500C)w/cutter	Hardware
GUARDIAN RFID® Wristband Laminator (4-inch)	Hardware
GUARDIAN RFID® Wristband Labels (1600 / roll)	Hardware
GUARDIAN RFID® Extra-Wide Wristband Fastener Crimper	Hardware
GUARDIAN RFID® Onsite Training (Days)	Professional Service
GUARDIAN RFID® Implementation Fee - Level 03 (251-500 beds)	Professional Service

2.00	\$70.00	\$140.00	None	N/A
			j	
1.00	\$1,700.00	\$1,700.00	One-Year	N/A
1.00	\$375.00	\$375.00	One-Year	1 per year
1.00	\$60.00	\$60.00	None	N/A
1.00	\$125.00	\$125.00	None	N/A
4.00	\$2,000.00	\$8,000.00	N/A	N/A
1.00	\$6,895.00	\$6,895.00	N/A	N/A

Subtotal

\$67,025.00

Total Price

\$66,800.00

Shipping and

\$1,405.30

Handling

Grand Total

\$68,205.30